FR26EE B MEEHE L

AE1,000A 411
w|  ®m | BemTs | ®m | RemEy | S0

%= T A A A 838,683 1,367,428

REEH (BIREELEKR 12 15

(1T ]h R EEEE R ETE m 4,635 9,406 5.53 6.83 46

(10T IREEBBBE S (X1) A 145 223 017 0.18 49

B =T 57 8 # A 79 84 0.09 0.06 60

B OZ2 % (% 2 ) m 1,901,721 2,350,502 2,268 1,937 55

z £ Z |¥H 357,584 896,656 426 721 38

(4> T v r]1EHE [FH 92,421 151,823 110 130 47

B H (hRE) (%3) 307 308 50

& 8% & £ A 380,017 372,857 453 286 66

(7HRTYR]EEE K (x4) A 2,409,724 3,544,500 2873 2,650 52

([ZHRTURIEMEE A% = 4,490,445 6,030,981 5,354 4,672 56

(Z7HrT9rIEKEES | M 73,549 81,605 88 66 54

[(7HRTYRILTPLURZM | # 108,280 117,348 129 76 59
CKNEABE. FEY. SYENEE . SXRBEE0AEH (K4) T2 DB ST OHE TR IS, SR, 58
(%2) BRFITHESELL . GENT. BT, AT O6THERL
(%3)BALEEZIZAO1000 A H=YIBREE T REMETE

A 01,000 A&7V D L&
[4> T k]
th sk (0 AR TE FR T S
60
(77T k] 55 (42T vhk]
L7 R4 HEERE B H (1)

(79T vR]
Gz y=dask-y

[7oRTYR]
EMBEHEH

(42T vk]
BEHE

BEH(%2)

(7orTuR)
SEREE B (3¢4)

FIEE B # (R AE) (3%3)

—iFh === BRI

Het T ER2TEE MM IREERRE EH



